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Overview of tests at SPS
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* Muon, proton, electron beams

* Green: 558 - BC404
Blue: 266 — BC408

3x3 on left side
* 1x1 on right side

e Tiles C2 and B2 tested

-> different boards due to connector breaking issue



Charge distributions fit

* Distributions of tiles with signal is best
fitted with a landau convolved with a
gaussian (langaus) with pylandau
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Langaus fit of ADC charge distributions
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Tile c2, position 0 - proton

3x3 SiPMs
X /nsee=918/107=09

- mpv = 3583.808 = 8.699

. eta = 163869 5814
N sigma = 165.354 + 9 014
#t A=482838+8038
% offset = 2374 = 0.968

1x1 SiPMs
X¥In.=541/122=04
mpv = 2636 574 = 6.357
eta=105880+ 4480
sigma = 191 695 £5.912
A=62415329755
offset = -1.708+1.301
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Particle comparison: protons — electrons — muons
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 Muonshave different board wrt protonsand electrons, due to broken connectorissue
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Different scintillator material

558 - BC404
266 - BC408

> 3x3on left side

» 1xlonrightside
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Beam spot on tile center

electrons - 3x3 100 GeV
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Beam on C2 — electrons @ 250 GeV
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Still under investigation




